ANSWER KEY: translation of the words in your notebooks (from Thursday, April 2nd)

cause –
vzrok





result – rezultat, posledica

consequence - posledica



carbon dioxide – ogljikov dioksid

to release – sprostiti (npr. v zrak)


the atmosphere – ozračje

sun's heat – sončna toplota



to trap sth – ujeti nekaj, zajeti (npr. v past)

melting ice – taleči se led



rising sea levels – dvigajoč se nivo morja

disappearing coasts – izginjajoče obale


extreme weather - ekstremno/izjemno vreme

to produce – proizvesti




climate – podnebje

to destroy – uničiti




to cut down trees – sekati drevje

to burn down trees – požgati drevje


to save – obvarovati, rešiti

ANSWER KEY (Student's Book page 56)

Exercise 1a: 1d, 2i, 3g, 4k, 5f, 6a, 7e, 8j, 9h, 10b, 11c.

Prevodi:

drought = suša

power stations = elektrarne

climate change = podnebne spremembe

the ice-caps = ledeniki

rainforests = deževni gozdovi

CO2 = ogljikov dioksid

pollution = onesnaženje

greenhouse gases = toplogredni plini

deforestation = krčenje gozdov

hurricanes = orkani

fossil fuels = fosilna goriva

Exercise 1b: 1b, 2i, 3a, 4d, 5e, 6g, 7j

Exercise 2a: 

1 climate change

2 Greenhouse gases

3 CO2

4 the ice-caps

5 hurricanes

6 drought

7 fossil fuels

8 power stations

9 deforestation

10 rainforests

Student's Book p. 57/6a: 1a, 2a, 3b, 4b, 5b
Student's Book p. 57/6b: The speaker mentions 2 and 5.

Effects: 

If the land is used for producing biofuels, there won't be enough for growing food for people and animals.

Trees are cut down or often just burnt down. Animals are killed and people are driven away.

